29036 %A il e ¥ B & ek

7= miiEA

ME
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

Mg -

AN BITELE,
FERETRIRRMAARS,

B

RERE I E Sk AT LABE1T 180° BRAE,
* R ELo

BEEK
ATEENRETMEMER,

B4
- AFEEMABHE 29050

© norelem www.norelem.com



29036 %A il e ¥ B & ek

T

bl

29036-512 - 29036-518 # 2 4

/ Bk A
- o P
[va]
7 i 2
Fan)
1 2 ff o
=\
i 7)4 )
-y A i !
o Uikl ©
\\- =,
29036-512 12,1 6* (2x) 25 | 26 29,4 40 50 20 | - 64 44 5 35 21 37,5 M6x18 38
29036-514 14,1 6* (2x) 25|26 | 294 |40 50 20 | - 64 44 5 35 21 37,5 M6x18 38
29036-516 16,1 6* (2x) 25| 26 29,4 40 50 20 | - 64 44 5 35 21 37,5 M6x18 38
29036-518 18,1 6* (2x) 25|26 | 294 |40 50 20 | - 64 44 5 35 21 37,5 M6x18 38
29036-520 20,1 7* (4x) 45 | 40 42 57 75 33| 57| 106 73 7 75 33 52 M8x35 -
29036-525 25,1 7* (4x) 45 | 40 42 57 75 33 |57 | 106 73 7 75 33 52 M8x35 -
29036-530 30,1 7* (4x) 45 | 40 42 57 75 33 |57 | 106 73 7 75 33 52 M8x35 -
29036-540 40,2 9* (4x) 60 | 56 57 76 | 100 |44 | 76 | 144 100 | 10| 100 48 69 M10x50 -

© norelem www.norelem.com




